Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
2,527 x 10 = 1,383 x 1000 =
4,087 x 100 = 5,955 x 1000 =
9,56 x 1000 = 2,582 % 100 =
7,527 x 100 = 7,096 x 1000 =
9,355 % 10 = 9,11 x 100 =
7,154 % 100 = 3,913 x 100 =
8,811 x 1000 = 10,901 x 10 =
9,971 x 100 = 10,177 x 10 =
7,187 x 100 = 10, 247 x 1000 =
3,067 x 100 = 5,425 x 100 =
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Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
2,527 x 10=25.27 1,383 x 1000 = 1383
4,087 x 100 = 408.7 5,955 x 1000 = 5955
9,56 x 1000 = 9560 2,582 x 100 = 258.2
7,527 x 100 = 752.7 7,096 x 1000 = 7096
9,355 x 10 =93.55 9,11 x 100 =911
7,154 x 100 ="715.4 3,913 x 100 = 391.3
8,811 x 1000 = 8811 10,901 x 10 = 109.01
9,971 x 100 =997.1 10,177 x 10 = 101.77
7,187 x 100 = 718.7 10, 247 x 1000 = 10247
3,067 x 100 = 306.7 5,425 x 100 = 542.5
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